
2014 Iowa Farm Business Management Career Development Event 

 

INDIVIDUAL EXAM (150 pts.) 

 

Select the best answer to each of the 75 questions to follow (2 pts. ea.).  Code your answers on 

the answer sheet provided.  Be sure to erase completely any answers that you change.  You have 

120 minutes (maximum) to complete this exam.  Section A contains 25 questions over 

‘Principles of Economics and Management’.  Section B contains 50 questions over ‘Financial 

Statements, Records Analysis, as well as Marketing and Risk Management’.   

 

Section A. Principles of Economics and Management (Questions #1-#25) 

 

1. A graph of a demand curve has values for which of the following noted on the vertical 

axis? 

 a. demand 

 b. quantity 

 c. price 

 d. supply 

 

2. Marginal cost is: 

 a. the cost of a marginally profitable activity 

 b. the additional cost per additional unit of output 

 c. a fixed cost 

 d. typically declining as output is increasing 

 

3. The amount of property tax paid by a property owner depends on: 

 a. the property tax rate 

 b. the taxable value of the property 

 c. the income level of the property owner 

 d. a and b 

 

4. A firm’s net worth is most readily seen on: 

 a. a cash flow statement 

 b. a balance sheet 

 c. an income statement 

 d. an enterprise budget 

 

5. Which of the following is the correct formula (r = interest rate, n = years) for determining 

a compound value interest factor? 

 a. (1+r)
n
 

 b. (1+n)
r
 

 c. r
n
 

 d. 1/(1+r)
n
 

 

 

 



6. An opportunity cost is what you: 

 a. pay for an opportunity 

 b. spend on fixed inputs 

 c. spend to produce one more unit of output 

 d. give up (its value) in order to do something  

 

7. Which of the following is most likely not a variable input for a corn producer? 

 a. fertilizer 

 b. seed corn 

 c. buildings 

 d.  labor 

 

8. A negative cash flow means: 

 a. cash income < cash expenses 

 b. profit < 0 

 c. net worth declined 

 d. all of the above 

 

9. An entrepreneur in business is: 

 a. a hedger 

 b. a risk taker 

 c. a risk avoider 

 d. a profit maker 

 

10. A balance sheet shows the financial condition of a business: 

 a. for the firm’s current fiscal year 

 b. for the most recent calendar year 

 c. at a noted point in time 

 d. over several past years 

 

11. Assets that will be used or sold during the next accounting period are typically said to be 

of this type:  

 a. expendable 

 b. current 

 c. intermediate 

 d. fixed 

 

12. Principal payments paid: 

 a. are listed as income on an income statement 

 b. are listed as expenses on an income statement 

 c. do not show up at all on income statement 

 d. are current liabilities on a balance sheet 

 

 

 



13. Based on the law of diminishing returns, an added pound of fertilizer in corn production 

will eventually reduce: 

 a. total corn production 

 b. the additional corn produced per additional unit of fertilizer 

 c. average bushels per acre produced 

 d. average costs per bushel 

 

14. Accrued interest is: 

 a. a current liability 

 b. a current asset 

 c. a noncurrent liability 

 d. an expense paid 

 

15. Which of the following would most likely increase the premium paid for crop insurance 

by a farmer per acre? 

 a. increase in the number of acres planted 

 b. bad weather after planting 

 c. increase in the yield level of coverage 

 d. increase in the interest rate 

 

16. If a dairy farmer doubles the number of cows in his/her milking hed, which of the 

following will likely change the most? 

 a. total fixed cost 

 b. average fixed cost per pound of milk 

 c. the price of milk received 

 d. average variable cost per pound of milk 

 

17. If the price per bushel of soybeans was $6 and now is $8, what was the percent change in 

the price? 

 a. +2 

 b. +25 

 c. +33 

 d. +14 

 

18. Liquidity is a financial term that relates to how easy it is for a firm to: 

 a. terminate all business operations 

 b. refinance existing loans 

 c. borrow additional money 

 d. convert assets into cash 

 

19. A production function shows how the following two things relate to each other: 

 a. quantity of output, quantity of an input 

 b. quantity of product, time 

 c. income, expenses 

 d. quantity of product, market price 

 



 

20. Cocoa bean prices have been increasing significantly over the past year or two.  Which of 

the following most likely explains this regarding cocoa beans? 

 a. increase in supply 

 b. decrease in demand 

 c. a and b 

 d. decrease in supply and increase in demand 

 

21. Which of the following is not tax deductible: 

 a. loan principal payments 

 b. hired labor costs 

 c. depreciation expense 

 d. machinery rental fees 

 

22. Cost per unit of output is a measure of firm: 

 a. profitability 

 b. efficiency 

 c. liquidity 

 d. solvency 

 

23. The lower the price of a product, the more people will buy.  In economics this is known 

as: 

 a. utility maximization 

 b. the law of demand 

 c. the law of comparative advantage 

 d. market equilibrium 

 

24. Keeping track of expenses is important for: 

 a. management purposes 

 b. tax purposes 

 c. a and b 

 d. none of the above 

 

25. Depreciation does this: 

 a. increases a firm’s taxes 

 b. prorates the cost of a capital asset over the useful life of that asset 

 c. increases a firm’s cash outflow 

 d. all of the above 

 

 



Section B.  Financial Statements, Records Analysis, Marketing, Risk Management. 

(Questions #26-#75) 
 

Use the attached net worth statement (balance sheet) and net farm income statement to 

answer questions #26-35. 

 

26. What was this farm’s working capital on January 1, 2014? 

 a. 2.74 

 b. $86,030 

c. $500,821 

 d. $2,664,578 

 

27. The farm’s cost value net worth changed by $____ from a year ago. 

 a. +$53,527 

 b. +$131,296 

 c. +$810,851 

 d. it stayed the same 

 

28. What percent of the farm’s total liabilities are due and payable within the next 12 

months? 

 a. 15% 

 b. 29% 

 c. 51% 

 d. 81% 

 

29. Using ‘market’ values, the farm’s total debt equity ratio is: 

 a. 27%  

 b. 37% 

 c. 45% 

 d. 70%  

 

30. Which of the following is the best measure of solvency? 

 a. value of total assets 

 b. current ratio 

 c. debt to asset ratio 

 d. change in net worth 

 

31. When farmland values increase, which of the following values on the net worth statement 

is most affected? 

 a. market value of current assets 

 b. fixed liabilities 

 c. cost value of fixed assets 

 d. market value of fixed assets 

 

 



32. From the Net Farm Income Statement, how much did this farm’s gross farm revenue 

change as a result of increase or decrease in crop inventory revenue?  

 a. +$451,770 

 b. +$95,880 

 c. -$24,790 

 d. -$95,880 

 

33. How much did the value of their accounts payable change from the beginning of the year 

to the end? 

 a. $7,049 increase 

 b. $7,049 decrease 

 c. $13,240 increase 

 d. $13,240 decrease 

   

34. How much was FFA Farms net farm income from operations in 2013? 

a. $ 826,717 

 b. $184,423 

 c. $120,197 

 d. $125,197 

  

35. What is the value of farm products produced minus the cost of the resources used to 

produce them in 2013?  

 a. net value of farm production 

 b. net farm income (accrual) 

 c. net farm income (cash) 

 d. net worth 

 

36. Which of the following is not included as an expense on the net farm income statement? 

 a. depreciation 

 b. interest payments made on loans 

 c. principal payments made on loans 

 d. the cost of supplies used but not yet paid for 

 

37. FFA Farm’s net accrual farm income was what percent of their value of farm production  

in 2013?? 

 a.  8 % 

 b. 12 % 

 c. 18 % 

 d. 32 % 



Use the attached cash flow budget projection to answer questions #38-45. 

 

38.   How many dollars’ worth of seed does FFA Farm plan to buy in January and February? 

 a. $13,500 

 b. $27,000 

 c. $40,500 

 d. $81,000 

 

39. For the beginning of which period does this farm project its largest negative cash 

balance? 

 a. January - February 

 b. March-April 

 c. May-June 

 d. July-August 

 

40. How much operating capital does FFA Farm need to borrow in January-February in order 

to have a cash balance of $2,000 at the end of February? 

 a. $ 41,557 

 b. $ 43,557 

 c. $ 45,212 

 d. $ 47,212 

 

41. The projected cash balance at the end of the September-October period for FFA Farm 

before any project operating loan borrowing or repayment is:   

 a. $2,265 

 b. $22,650 

 c. $30,554 

 d. ($20,384) 

 

42. What is FFA Farm’s projected total cash outflows for all of 2014, based on the cash flow 

budget? 

 a. $1,013,701 

 b. $1,007,520 

 c. $ 212,689 

 d. $6,181 

 

43. When does FFA farm expect to purchase some new machinery or equipment? 

 a. January-February 

 b. March-April 

 c. May-June 

 d. July-August 

 

44. In how many periods does FFA farm expect to have a negative net cash flow? 

 a. none 

 b. two 

 c. three 



 d. four 

 

45. What expense category is not found on a cash flow budget but is included in a net farm 

income statement? 

 a. cash rent payments 

 b. pesticide purchases 

 c. hired labor wages 

 d. depreciation 

 

 

Refer to the attached “Grade A Dairy” budget to answer questions #46-50. 

 

46. How much income over all costs (profit) for one dairy cow is projected? 

 a. $5,310.00 

 b. $1,485.79 

 c. $539.59 

 d. $480.00 

 

47. What is the breakeven selling price of milk to cover variable costs after allowing for 

income from the sale of cull cows and calves? 

 a. $ 23.09 per cwt. 

 b. $14.54 per cwt. 

 c. $18.56 per cwt. 

 d. $21.00 per cwt. 

 

48. What is the projected profit per hundredweight (cwt) of milk sold?  

 a. $ 21.00 per cwt 

 b. $ 2.35 per cwt 

 c. $ 6.46 per cwt 

 d. $18.65 per cwt 

 

49. How much is the projected $ milk sales per $ of feed fed in this budget to the nearest 

cent?   

 a. $ 0.44  

 b. $ 2.25  

 c. $ 2.48  

 d. $ 9.31  

 

50. In this budget, what is the minimum gross income needed to justify continuing to produce 

in the short-run?     

 a. $3,842.21 

 b. $5,310.00 

 c. $1,485.79 

 d. $4,770.41 

 

 



 

 

Refer to the attached budget for corn to answer questions 51-55. 

 

51. How much is the expected return over variable costs per acre? 

 a. $ 61.46 

 b. $ 1040.00 

 c. $ 489.26 

 d. $ 612.20 

 

52. What selling price for corn grain is needed to just cover total costs after accounting for 

income received from sale of stover bales? 

 a. $ 6.21 per bu. 

 b. $ 5.44 per bu. 

 c. $5.00 per bu. 

 d. $4.66 per bu. 

 

53. How much are their total costs for fertilizer and lime? 

 a. $76.20 per acre 

 b. $149.42 per acre 

 c. $159.09 per acre 

 d. $ 323.64per acre 

 

54. How much cash rent per acre could they afford to pay and still break even? 

 a. $311.46  

 b. $ 188.54  

 c. $ 250.00  

 d. $ 978.54  

 

55. If the farm hires no outside labor how much would the net return per hour of their own 

labor be? 

 a. $14.00  

 b. $23.64  

 c. $36.40  

 d. $37.64  

 

 

Questions #56-75 deal mainly with marketing and risk management. 

 

56. Crop insurance protects the producer against: 

 a. a possible crop loss 

 b. creditors 

 c. declining crop prices 

 d. a and c 

 

 



 

 

57. Increasing diversification by a farmer: 

 a. increases overall risk 

 b. spreads and reduces overall risk 

 c. has no impact on risk 

 d. means they are getting larger (i.e. more acres) 

 

58. A futures price minus a cash price for the same product is: 

 a. a marketing margin 

 b. a price premium 

 c. the amount by which the cash price is expected to change by delivery time 

 d. the basis 

 

59. Charting futures prices and trying to predict price changes based on observed price 

patterns is known as: 

 a. speculation 

 b. supply and demand analysis 

 c. technical price analysis 

 d. arbitration 

 

60. A cash forward contract locks this in for a farmer: 

 a. the cash price of the product 

 b. the basis 

 c. the futures price of that product 

 d. profit 

 

61. A volatile market is one with:  

 a. steady returns 

 b. many irate consumers 

 c. much governmental intervention 

 d. highly variable prices 

 

62. To protect against the price of wheat declining before it is sold, a wheat farmer could: 

 a. sell a wheat call option 

 b. sell wheat futures 

 c. buy wheat put options 

 d. b and c 

 

63. The price paid for the purchase of soybean put option is:  

 a. the strike price 

 b. the premium 

 c. the basis 

 d. the commission fee 

 

 



 

 

64. A true hedger should close out their futures position: 

 a. at the same time they close their cash position 

 b. before they close their cash position 

 c. after they close their cash position 

 d. as soon as prices increase 

 

65. An expected hedged price to be received by a corn farmer would best be calculated by 

subtracting the expected ending basis from: 

 a. the ending cash price 

 b. the ending futures price 

 c. the initial futures price 

 d. the initial basis 

 

66. If a firm’s total cost (= TC) as a function of quantity produced (= Q) is given as 

TC = 10,000 + 4Q: 

 a. total fixed costs = 4Q 

 b. average fixed costs = 10,000/Q 

 c. marginal cost = $10,000 

 d. total variable costs are constant 

 

67. Costs that change with changes in the quantity of a commodity produced by a farmer are 

known as: 

 a. variable costs 

 b. opportunity costs 

 c. sunk costs 

 d. implicit costs 

 

68. The amount of a patronage refund received by a farmer from a cooperative depends on 

the: 

 a. farmers business volume in total 

 b. farmer’s business volume with the co-op 

 c. number of co-op shares of stock owned by the farmer 

 d. farmer’s level of accounts payable to the co-op 

 

69. If a cattle producer can gain $1.00/cwt by doing a better job of marketing 500 head of 

cattle each weighing 1100 pounds (i.e. 11 cwt), how much have they added to their total 

revenue? 

 a. $500 

 b. $1100 

 c. $550 

 d. $5500 

 

 

 



 

70. One advantage of hedging future livestock sales with put options versus regular futures 

contracts is: 

 a. lower costs 

 b. one can take better advantage of subsequent price increases  

 c. the selling price is fixed 

 d. gains are not taxable 

 

 

71. For a barley producer, (the price of barley) (their barley yield per acre) – (total barley 

production costs per acre) =  

 a. breakeven output per acre 

 b. profit per acre 

 c. breakeven price 

 d. marginal revenue 

 

72. A short hedger will most likely receive a margin call if: 

 a. the basis widens 

 b. interest rates rise 

 c. the price of the hedged product increases 

 d. their expected production level decreases 

 

73. If U.S. production of coffee is less than U.S. consumption of coffee, this most likely 

means: 

 a. the U.S. imports coffee  

 b. the U.S. exports coffee  

 c. U.S. consumers can’t buy all the coffee they desire 

 d. the government is supporting the price of coffee 

 

74. For most traders of futures contracts, when a contract’s closing price is below an up trend 

line, this is a signal that the contract’s price: 

 a. has bottomed out 

 b. will decline in the near future 

 c. will increase in the near future 

 d. a and c 

 

75. A cash forward contract usually specifies: 

 a. delivery quantity 

 b. delivery price 

 c. delivery time 

 d. all of the above  



2014 Iowa Farm Business Management Career Development Event 

 

INDIVIDUAL EXAM KEY 

 

Section A. Principles of Economics and Management 

 

1. C 

2. B 

3. D 

4. B 

5. A 

6. D 

7. C 

8. A 

9. B 

10. C 

11. B 

12. C 

13. B 

14. A 

15. C 

16. B 

17. C 

18. D 

19. A 

20. D 

21. A 

22. B 

23. B 

24. C 

25. B 

 

Section B. Financial Statements, Records Analysis, Marketing, Risk Management 
 

26. C Working capital  = current farm assets - current farm liabilities 

  = $789,058 - $288,237 = $500,821 

 

27. A cost value net worth change = (cost value net worth this year – cost value net 

worth last year) 

  = $1,853,727 - $1,800,470 = $53,257 

 

28. B (Total current liabilities / total liabilities)  

  = $288,237 / $991,265 = 29% 

 



 

29. B Debt-to-equity ratio = total farm liabilities divided by total farm equity (or net 

worth)( market value) 

  = $991,265 / $2,664,578= 37% 

 

30. C The debt- to-asset ratio = total farm liabilities / total farm assets and measures 

solvency – if all assets were sold and all liabilities repaid, how much would be 

left? 

   

31. D Farmland value changes are reflected in the market value of farmland, a fixed 

asset. 

 

32. D Change in crop inventory revenue = ending crop value – beginning crop value 

  = $451,770 - $547,650= -$95,880  

   

33. B Ending account payable minus beginning accounts payable 

  $29,540 - $36,589 = $7,049 decrease 

 

34. C Net farm income from operations = Gross farm revenue – gross farm expenses 

  $826,717 - $706,520 = $120,197 

 

35. A By definition. 

 

36. C Principal payments on loans are not treated as an expense (but they are a cash 

outflow). 

 

37. C Net accrual farm income divided by value of farm production x 100 

  ($125,197 / $684,107 ) x 100 = 18% 

 

38. B $27,000 in seed purchases in the January-February period.  

 

39. C -$44,777 at the beginning of the May-June period. 

 

40. B Net operating loans needed in January-February = (negative net cash flow Jan. 

and Feb.) – (beg. Cash balance) + (desired ending cash balance) 

  $45,212 - $3,655 + $2,000 = $43,557 

 

41. A The projected cash balance is $2,265 at the end of the September-October period. 

 

42. B Total cash outflows for the whole year = $1,007,520. 

 

43. C $45,000 in purchases of capital assets in the May-June period.. 

 

44. C There is a projected negative net cash flow in the following THREE Jan-Feb, 

Mar-April and July-Aug time periods. 

 

45. D Depreciation is a non-cash expenses and does not appear on the cash flow budget. 

 



46. C Total income – total all costs 

  $5,310.00 - $4,770.41 = $539.59 

 

47. B Breakeven price = (variable costs-other income) / cwt. milk sold 

  ($3,824.21 - $480.00) / 230 cwt. = $14.54 per cwt. 

 

48. B (Total income – total costs)/230 cwt = 539.59 / 230 = 2.35 

   

49. B $ milk sold / total feed costs 

  = $4,830 / $2,142.96 = $2.25  

 

50. A Income to just cover variable costs, $3,824.21 

 

51. C Total revenue minus total variable costs = return over total variable costs  

  = $1,040 - $550.74 = $489.26 

     

52. D (Total cost – stover income) / 180 bu. = $978.54 - $140.00 / 180 bu. = $4.66  

 

53. C Nitrogen cost + Phospate cost + Potash cost + Lime cost = $76.20 + $43.52 + 

$29.70 + $9.67 = $159.09.   

 

54. A (Gross income per acre) - (All costs except cash rent) = $1,040 – (978.54 – $250) 

= $311.46 

 

55. D = (Gross income – all costs except labor) / 2.6 hrs 

  = ($1,040 – 942.14) / 2.6 

  = $37.64 

 

56. A 

57. B 

58. D 

59. C 

60. A 

61. D 

62. D 

63. B 

64. A 

65. C 

66. B 

67. A 

68. B 

69. D 

70. B 

71. B 

72. C 

73. A 

74. B 

75. D 



Team Participation Event – “Individual” Portion (5 Questions @ 1 pt ea) 

 

2015 Iowa Vo-Ag/FFA 

Farm Business Management Career Development Event 

(Maximum possible pts = 5 per individual and 15 per team) 

 

Instructions:  The questions below are related to the problems you just worked on as a team.  Select the best 

answer (1 pt. each).  Code your answers on the answer sheet provided.  Be sure to erase completely any answers 

that you change. 

 

1. The internal rate of return is the discount rate that makes which of the following have a value of 0? 

 a. present value 

 b. net present value 

 c. net cash flow 

 d. payback period 

 

2. Which of the following would increase the number of future value (FV) dollars that are equivalent to a 

given number of present value (PV) dollars, holding all other factors constant? 

 a.  r 

 b.  n 

 c.  PV 

d. a and b 

 

3. According to the most recent ISU Iowa Land Value Survey, the 2014 average value per acre of Iowa 

farmland: 

 a. did not change much (i.e. less than 1%) from 2013 

 b. went down by the largest % in a single year ever 

 c. went up for the 5
th

 year in a row 

 d. went down but NOT by the largest % in a single year ever 

 

4. What is a graphic representation of the timing of current and future cash flows called? 

 a. a cash flow statement 

b. a net present value chart 

c. a time line 

 d. a supply and demand diagram 

 

5. If Farmer Jones buys 100 acres of land today at $8,000 per acre, the payback period (NOT discounted 

payback period) is what if the farmer expects to have a net cash flow per acre of $200 (ignore resale 

value)? 

 a. 4 years 

b. 2.5% 

 c. need to know interest rate in order to calculate 

 d. 40 years 
 

 



Team Participation Event – “TEAM” Portion (7 questions @ 5 pts. ea.) 

 

2015 Iowa Vo-Ag/FFA 

Farm Business Management Career Development Event 

(Maximum possible pts = 35 pts per team) 

 

As a group (or team), you are to collectively select the best answer to each question below (5 pts. 

each).  Code your answers on the answer sheet provided (one answer sheet per team).  Be sure to 

erase completely any answers that your team changes. 

 

This activity is designed to test your ability as a group to 1) apply your knowledge of economic 

and business concepts to actual firm decisions, and 2) generalize and summarize the basic 

content and implications of economic articles and reports.  The applications will focus on 

information summarized in selected publications previously cited as reference materials for this 

event. 

 

In particular, this activity this year focuses on sub topics related to CAPITAL BUDGETING and 

Iowa farmland values. 

 

1. Based on Table 1 (attached), the average Iowa farmland value per acre in 2014 was what? 

a. $8716 

b. Not known 

c. $7943 

d. -$773 

 

2. Based on Table 1, what was the % change in the average Iowa farmland per acre from 

2013 to 2014? 

a. -9.7 

b. -8.9 

c. +5.1 

d. Not known 

 

3. Based on Table 1, during what year did the average Iowa farmland value per acre 

decrease the most from the previous year? 

 a. 1985 

 b. 2014 

 c. it depends on the definition of most (i.e. % or $) 

 d. 1984 

 

4. Based on Table 1, what annual net cash flow per acre would have produced a 30-year 

payback period for land purchased in 2010 at a price equal to the statewide average value 

per acre (ignore resale value)? 

a. $168.80 

b. need to know the discount rate in order to calculate 

c. $23.00 

d. $264.77 

 

 

 

 



5. Based on Table 1, if a farmer purchased 1,000 acres of land in 2012 at a price equal to the 

statewide average value per acre and was required to put down 50% cash on the purchase, 

how many cash dollars did the farmer need to have to make the purchase? 

 a. $4,148 

b. $8,296,000 

c. $4,148,000 

d. none of the above 

 

6. Which of the following would decrease the number of future value (FV) dollars that are 

equivalent to a given number of present value (PV) dollars, holding all other factors 

constant?   

a.  r 

 b.  PV 

c.  n 

 d. all of the above 

 

7.  

 

  

 

 

 

Assume the time line above represents net cash flows associated with an investment.  If r 

= 7%, what is the net present value (NPV) of this investment? 

a. 5,000/(1.07) + 5,000/(1.07)
2
 + 5,000/(1.07)

3
 – 10,000 

b. +5,000 

c. 5000/(1.07) + 5,000/(1.07)
2
 + 5,000/(1.07)

3
 

d. (-10,000)(.07) + (15,000) (.07) = 350 

 

VII. 2015 Event Resources 

 

Theme: “Capital budgeting topics such as payback periods and time value of money with some 

applications to land values.” 

 

1. Understanding the Time Value of Money 

http://www.extension.iastate.edu/agdm/wholefarm/html/c5-96.html 

http://www.extension.iastate.edu/agdm/wholefarm/pdf/c5-96.pdf 

 

2. Time Value of Money and Capital Budgeting Terms 

http://www.extension.iastate.edu/agdm/wholefarm/pdf/c5-243.pdf 

 

3. Capital Budgeting Basics 

http://www.extension.iastate.edu/agdm/wholefarm/html/c5-240.html 

http://www.extension.iastate.edu/agdm/wholefarm/pdf/c5-240.pdf 

 

4. 2014 Farmland Value Survey Iowa State University 

http://www.extension.iastate.edu/agdm/wholefarm/html/c2-70.html  

-10,000 +5,000 +5,000 +5,000 

0 1 2 3 

http://www.extension.iastate.edu/agdm/wholefarm/html/c5-96.html
http://www.extension.iastate.edu/agdm/wholefarm/pdf/c5-96.pdf
http://www.extension.iastate.edu/agdm/wholefarm/pdf/c5-243.pdf
http://www.extension.iastate.edu/agdm/wholefarm/html/c5-240.html
http://www.extension.iastate.edu/agdm/wholefarm/pdf/c5-240.pdf
http://www.extension.iastate.edu/agdm/wholefarm/html/c2-70.html


 



Team Participation Event – “Individual” Portion (35 pts.) – KEY 

 

2015 Iowa Vo-Ag/FFA 

Farm Business Management Career Development Event 

(Max. possible:  5 pts per individual, 15 pts. per team = sum of team’s top 3 individual 

scores.) 

 

 

1. B 

2. A FV = PV (1 + r)n.  An r will  FV 

3. D See team activity reference (2014 Farmland Value Survey ISU, Table 1) 

4. C See team activity reference (Understanding Time Value of Money, p. 1) 

5. D Payback period = initial cost/annual net cash flow = $8,000/$200 = 40 

years 



Team Participation Event – “TEAM” Portion (35 pts.) - KEY 

 

2015 Iowa Vo-Ag/FFA 

Farm Business Management Career Development Event 

 

 

1. C  = 2013 value – 773 = 8716 – 773 = 7943 

 

2. B = (-773/8716)(100) = -8.9 

 

3. C -30.1% = largest %  in 1985; -$773 = largest $  in 2014 

 

4.      A  payback period = cost/avg annual net cash flow => 30 = 5064/x => x = 5064/30 = 

168.80 

 

5.      C  = (8296) (1000) (.5) = 4,148,000 

 

6. C  FV = PV (1+r)
n
 => n would  FV 

 

7. A  NPV = PV of future net cash flows – initial cost 

   = [5000/1.07 + 5,000/(1.07)
2
 + 5000/(1.07)

3
] – 10,000 

 

 














